UG/ 1-Sem /H & G / 19 [Sci. & Com.] (AEC-1)
2019
ENVIRONMENTAL STUDIES
(Honours & General)
Paper : AEC - 1
For Science & Commerce .
Time : 1 Hour | Full Marks : 40

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code; Registration humber, Session and Roll
number in the space provided on the Afiswer Script.
Example : Such as for Paper AEC - 1 (MCQ)

Subject Code : |AEC| | 1

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B),(C), (D)]. Only one
of these alternatives is “CORRECT’ answer. The candidate has to write
the Correct Alternative fi.e. (AY(B)AQND)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

L. —-A

* There is no negative marking for wrong answer.

® No students will be allowed to leave the examination hall before
completion of the examination. - _

® Using abusive language or employing any other unfair means, he/
she will render himself/herself liable to disqualification.

® Use of any mobile phone, calculator or log table etc. in the
examination hall is prohibited, except specially instructed in the
question paper.
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ENVS . , : SCi. & COM. (H & G)
EachquestioncmﬁesZmark_s
el e Wi )

| & Mﬁéhgaseousoomponaﬁisp:mmthhighestmnomnmﬂwair?
(A) Carbon dioxide
(B) Oxygen

- (C) Nitrogen

(D) Hydrogen

> | AYNETEHT PPN SoimiefFm wug mmﬁﬁmﬂmﬂ
(A) I mﬁ@ e
©) WM '
(D) mm

2. The oldest nuclear powerplant in Infﬁa 1S ++
(A) Kalpakkam in Tamilnadu 4+
(B) Kaiga in Kama‘taka ;

(C) Tarapur in Maharashtra
(D) Narora in Uttar Pradesh

| SRR AbeN Rl «feew TE—
(A) ifiErrg Ferse
(B) 36T it
(C) TRAET SRR
(D) SezTir At
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ENVS : : SCL. & COM.(H & G)

3. “Silent Valley’ lies in the state of —
(A) Bihar
(B) Kerala
(C) Tamilnadu
(D) Goa

9| ‘HARETS TAGR (T A SRS —
A) 2=
®) e
(C) iy

(D) corat

4. According to Census, 2011, which state of India has the highest growth rate
of human population ?

(A) Bihar
(B) Uttar Pradesh, ‘.
(C) Madhya Pradesh
(D) Arunachal Pradesh .
81 0% WWWWWWWWWWW
Qe ,
R GY) ﬁm
(B) TezeiTw
. (C) =T
(D) SEIbETRIT™
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5. Father of ‘Green Revolution’ is —
(A) Dr. Arun Krishnan

(B) Dr. Norman Borlaug
(C) Dr. C. V. Raman

(D) Dr. S. Radhakrishnan
¢ | F& AR o FLaT—
(A) ©. 5t T
(B) ©. TG QT
©) © & f&. 7w
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ENVS SCI. & COM. (H& G)

—-———-——-——_———_————-——-—————.—_-—————-—-—h—

7. What kind of environmental crisis happened due to Chernobyl and Fukusima
disaster ?

(A) Death of many

(B) Radioactive emissions

(C) Asset loss

(D) Problems with rehabilitation

q | GACAE @ FIFI ybar Afeaet & [Rvm wworg?
(A) I=[Y '
B) coafE i
(C) 7feq =fs

e T . I SN SN S S— | S e — — — — — — — — — | p— — — — — — —— — —

8. ‘Fossil fuels’ are —

(A) renewable
(B) non-renewable
(C) inexhaustible .
(D) none of the above

| R gEAr @ —
(A) S RRETIY
(B) -7
(OR L
(D) AR T
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ENVS SCI. & COM. (H& G)

9. What is the probable percentage of ‘draught area’ in India?
A) 10%
(B) 20%
©) 33%
D) 48%

o | SALSY U IO ORI A 2
(A) So o
(B) X0 *rore
(C) 9o *&itH
D) 8 #o"

_—_‘_—.__——‘___'___—__——___._—_—_—_——_

10. Suitable plant for biokdiesel production is —

(A) Jatropha plant
(B) Genetropha plant
(C) Mango plant,
(D) Coconut plant

S0 TeR freet Besttv-aa & T SiE T—
(A) SIEE ity
(B) femgtatt aitg
(C) =i g
(D) HfCw=T airg
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11. Food chain starts with —
-(A) Photosynthesis
(B) Forestation
(C) Sun rise
(D) Planting of seeds
531 ﬂmﬁmqmw —
(A) ATAIACCHATER TG
~ (B) IPECTR TGTH
(C) AT e
(D) JeREATR OT

12. Which gas is the most responsible for “global warrning™
(B) Helium
(C) Carbon dioxide
(D) Oxygen
53| R TR T @ T Al e
(A) et&w
B) fRferamy -
(C) I CiRemRT
D) sfre=
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13. With which of the following, the ‘Agenda 217 of Rio Summit, 1992 is related
to?

(A) sustainable development
(B) combating the consequences of population explosion
(C) mitigation norms of Green House Gas (GHG) emission
(D) technology transfer mech;nism of developing countries for ‘clean-energy’
production
o | 5T (G Rio Summit, 1992-47 ‘Agenda 21°~47 A TNEYE 2
- (A) TN TS
(B) WAt Rewiael-ga wiefs Fge
(C) Green House Gas (GHG). {538 25 e,
D) ‘Clean—energy %aorm WY TS cw'm*-zc: RS R

. -————-———-l—l-———-—l—-—-—_n-_*_“x—__———_._—-———-——_

14. Which of the following emwmnmmtm first gave the ‘eoncept of Biodiversity
‘hotspot’? \

(A) Gaylord Nelspn
(B) Norman Myerg
(C) John Muir |
(D) Julia Hill
8 | fafEie «ifFravmm s @ e Sitafras ‘hotspot SCERIECIEe DU T E
(A) (ST (wer
(B) w01
(©) & A
D) Ffemt et
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ENVS . SCL.&ECOM.(H& G)

15. Combustion of waste products at high tcmpérafureislmownas——_
(A) incineration ' ' '
(B) flame
(©€) fire
| (D) inflammation
mwaﬁ?lﬁt@%wmm%%w—
(A) PRI
B) &
(€) TR
(D) TTHITTI

16. The optimum limif of SO in habitable area should be. (ig/m?) —
(A) 100 - e

®) 50
©) 30

®) 0.01 |
36| TS GEPH SO, Tl 26H Thw =
(4) so0
(B) eo
(©) o
(D) o.05
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ENVS ' SCL. & COM. (H& G)
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N ﬁwﬁﬂw@quiﬁ!ﬂ@ﬂm?
(A) TRGITSH
(B) wfR¥e=
(C) fiers
D) =1
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ENVS SCI. & COM. (H& G)

19. Rhinoceros conservation project in West Bengal is at —
(A) Jaldapara
(B) Chapramari
(C) Belacoba

(D) Mahananda

35 | HARGIRH -G O FTH! T —
(A) TEmrATet
(B) S
(C) AR
(D) ==t

T —————— — — — — — —— —— T S — e — A T — — — — — — —

20. Who first proposed the concept of B-diversity?
(A) Tansley 0
(B) Haeckel
(C) Charles Elton
(D) Whittaker
o | o1 tforars Tuis @ e
(A) BCa
(B) =z
(C) vl &iow
(D) 53R
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